2. EBHlE=#V V&

(Mg i B AR )
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EHE=2V 7 RE k)

(R MEA R R A )RS 57 1)

(BASL i mg/L)

T X ETAT 44 tEH INATR

X HET R —R 202 203

H X 4 AT T XH#h

HXE = 0230 0040

HEES 000100 001600

FH R (m) 6.0 BH

TR EHF EHF

F& X5y Z D1tk TERAK
PRKFEHH H26.7.16 | H26.12.9 H26.7.1 | H26.12.15

7KIE(°C) 17.0 17.0 16. 1 16.4

BREEFE (mS/m) 16.7 13.8 11.2 9.3

pH 6.0 5.8 |FREHE 6.1 6.8 | FREEME
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
g bR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
Eirr = 1% /) ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
T X ETAT 44 INATR INATR

X HET R —R 203 203

H X 4 T M &7 [RET

HXE = 0040 0200

HEES 002000 000200

FH R (m) 30.0 BH

B R FHF TH

F& X5y TXRRAK AERK
PRKFEHH H26.7.1 | H26.12.15 H26.7.4 | H26.12.19

7KIE(°C) 17.0 15.3 16.7 12.9

BREEFE (mS/m) 18.4 15.5 8.9 7.3

pH 6.4 6.9 |FHEHE 5.9 6.0 |FREHE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
g bR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
Eirr = 1% /) ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0.0022 0.0027 0.0025 (< 0.0005 (< 0.0005 (< 0.0005
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EHE=2V 7 RE k)

(MR R AW )| RS 572)

(BASL i mg/L)

T X ETAT 44 INATR INATR

X HET R —R 203 203

X4 £R HT FHEHT

HXE = 0340 0350

HEES 001600 001300

FH I EE (m) B 40.0

B R B FHFE

F& X5y AJERK TERAK
PRKFEHH H26.7.1 | H26.12.15 H26.7.1 | H26.12.19

7KIE(°C) 16.7 15.7 17.9 16.6

BREEFE (mS/m) 13.4 10.9 15.5 12.7

pH 4.9 5.5 |FREHE 5.4 5.8 |FEREHE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
g bR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
Eirr = 1% /) ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 [< 0.0005 (< 0.0005 0.0006 |< 0.0005 0. 0006
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 0.003 0.003 < 0.002 0. 002 0. 002
FhF/EaTF LY <0.0005 < 0.0005 [<0.0005 [<0.0005 [<0.0005 [<0.0005
T X ETAT 44 INATR INATR

X HET R —R 203 203

H X 4 FHEHET J\BiHET

HXE = 0350 0660

HEES 001400 000100

H G (m) 54.0 10.0

B R FHF EHF

F& X5y TERAK ATERK
PRKFEHH H26.7.1 | H26.12.19 H26.7.3 | H26.12.19

7KIE(°C) 18.7 15.4 19.4 5.1

BREEFE (mS/m) 18.1 14.9 21.2 21.6

pH 5.6 6.0 |FMFEHE 6.7 6.6 | FHEE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
g bR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
Eirr = 1% /) ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- 0.0005 |< 0.0005 0.0005 (< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
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EHE=2V 7 RE k)

(MR R S )RS 573)

(BASL i mg/L)

T X ETAT 44 INATR b S

X HET R —R 203 204

H X 4 R FLET A FHET

HXE = 0670 0010

HEES 000100 000100

H G (m) 45.0 6.0

TR B EHF

F& X5y TERAK ATERK
PRKFEHH H26.7.3 | H26.12.15 H26.7.22 | H26.12.8

7KIE(°C) 20.1 17.8 14.0 15.4

BREEFE (mS/m) 69.5 62.9 30.2 22.0

pH 7.6 1.5 | FHESE 6.6 1.4 | FEREE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
g bR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
Eirr = 1% /) ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL 0. 007 0. 007 0. 007 0. 008 0. 005 0. 007
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 0. 006 < 0.002 0. 004
VAl \ZA=1=1=8 o V% 0.0024 0.0023 0.0024 0.075 0.021 0.048
T X ETAT 44 W S b S

X HET R —R 204 204

H X 4 A FHET A FHET

HXE = 0010 0010

HEES 000130 000140

FH I EE (m) 3.0 5.0

TR EHF EHF

F& X5y A ERK ATERK
PRKFEHH H26.7.22 | H26.12.9 H26.7.22 | H26.12.9

7KIE(°C) 14.0 14.5 16.0 15.5

BREEFE (mS/m) 42.0 33.4 31.9 24.9

pH 6.9 1.2 | FREESE 6.8 6.8 | FREEME
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
g bR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
Eirr = 1% /) ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 0. 005 < 0.004 0. 005
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0.0015 0.0010 0.0013 0. 0090 0. 0050 0.0070
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EHE=2V 7 RE k)

(R A R R AW )RS 57 4)

(BASL i mg/L)

i XET A4 AT T

X E A= —1 206 207

XA HLAUR SR HIHEET

X = 0490 0030

%S 000100 000500

FEE TR (m) 20.0 10.0

e R il EHP

& X5y ATERK Z D1t

KA B H26.7.11 | H26.12.8 H26.7.14 | H26.12.9

7KiIR(°C) 19.0 17.0 17.5 16.5

B XURE R (mS/m) 20. 1 17.3 40.8 8.0

pH 6.1 6.1 |FHTHE 6. 6 6.7 |FFRTHE
/A=iuy S < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb pR SR < 0.0002 |<0.0002 |<0.0002 |<0.0002 (< 0.0002 [<0.0002
ke =LE /)~ — < 0.0002 |< 0.0002 |< 0.0002 0.028 < 0.0002 0.014
Lo-vranxH < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 ([<0.0004 [<0.0004
L1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L <0.004 |<0.004 |<0.004 0.014 < 0.004 0.009
L,1,1-’)rmaxz < 0.0005 |< 0.0005 |<0.0005 |<0.0005 (< 0.0005 (< 0.0005
1,1,2-K)rmaxz - < 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006 (< 0.0006
KNZooxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Va4 1= i 0. 0005 0. 0007 0.0006 |< 0.0005 |< 0.0005 (< 0.0005
i XET A4 e B

X E A= —1 207 210

X 4 RAHT = KT

X = 0070 0030

%S 000400 000400

FEE TR (m) 40.0 100.0

e R o Eida o Eida

& X5y Z Dfth — KA

KA B H26.7.14 - H26.7.7 | H26.12.10

7KiIR(°C) 19.0 17.5 13. 1

B XURE R (mS/m) 38.2 23.0 20.0

pH 7.9 FREE 6.8 6.7 |FFRTHE
/A=iuy S < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb pR SR < 0.0002 < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
ke =LE /)~ — < 0.0002 < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
Lo-vranxH < 0.0004 < 0.0004 |< 0.0004 |< 0.0004 < 0.0004
L1-Y/anxzFL 0.009 0.009 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L < 0.004 <0.004 |<0.004 [|<0.004 |<0.004
L,1,1-’)rmaxz 0.0010 0.0010 < 0.0005 < 0.0005 (< 0.0005
1,1,2-K)rmaxz - < 0.0006 < 0.0006 |< 0.0006 |< 0.0006 < 0.0006
KNZooxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Va4 1= i < 0. 0005 < 0.0005 0. 0006 0. 0008 0. 0007

- 184 -



EHE=2V 7 RE k)

(MR R LS )1 R 5 575)

(BASL i mg/L)

T X ETAT 44 =[0G Bl

X HET R —R 210 210

X4 = K i ET = ERET

HXE = 0030 0040

HEES 000500 000100

FH I EE (m) B 85.0

B R FHF FHFE

F& X5y TERAK — % &x A
PRKFEHH H26.7.7 | H26.12.10 H26.7.7 | H26.12.10

7KIE(°C) 17.0 14.5 24.0 9.7

BREEFE (mS/m) 20.1 18.7 16.0 20.4

pH 6.5 6.5 |FHEHE 7.3 7.1 [ E
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
g bR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
Eirr = 1% /) ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhoraE=FL v 0.0023 | 0.0023 | 0.0023 [< 0.0005 [< 0.0005 |< 0.0005
T X ETAT 44 =[0G Bl

X HET R —R 210 210

X4 = &BHET w37 (R ET

HXE = 0040 0080

HEES 000300 000500

FH R (m) 100.0 BH

B R FHF TH

F& X5y TERAK — % &x A
PRKFEHH H26.7.7 | H26.12.10 H26.7.7 | H26.12.10

7KIE(°C) 17.5 14.0 17.4 14.0

BREEFE (mS/m) 21.8 21.0 21.2 17.5

pH 6.9 6.9 |FHEHE 6.5 6.4 | FREE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
g bR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
Eirr = 1% /) ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- 0.0012 0. 0008 0.0010 (< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0. 0005 0. 0006 0.0006 (< 0.0005 (< 0.0005 (< 0.0005
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EHE=2V 7 RE k)

(MR R S )1 R 5 576)

(BASL i mg/L)

i XET A4 B B

X E A= —1 210 210

XA F AT 7 H T

X = 0090 0100

%S 000500 000100

FEE TR (m) 60. 0 80.0

e R A~BH o Eida

& X5y Z Dfth — KA

KA B - H26.12.10 H26.7.7 | H26.12.10

7KiIR(°C) 14.0 17.5 13.0

B XURE R (mS/m) 19.8 19.8 17.2

pH 6.7 | FHTHYE 6. 6 6.5 | fFRTHE
/A=iuy S < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb pR SR < 0.0002 |< 0.0002 |<0.0002 (< 0.0002 [<0.0002
ke =LE /)~ — < 0.0002 |< 0.0002 |<0.0002 (< 0.0002 [<0.0002
Lo-vranxH < 0.0004 [< 0.0004 |<0.0004 ([<0.0004 [<0.0004
L1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L <0.004 [<0.004 |<0.004 (<0.004 [<0.004
L,1,1-’)rmaxz < 0.0005 |< 0.0005 |< 0.0005 |[<0.0005 (< 0.0005
1,1,2-K)rmaxz - < 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
KNZooxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Va4 1= i < 0.0005 |< 0.0005 0. 0006 0.0013 0.0010
i XET A4 B B

X E A= —1 210 210

X 4 = K #TET (RN

X = 0130 0380

%S 000500 000100

FE R (m) 8 80.0

e R o Eida o Eida

& X5y —iRERA JKEIKIR

KA B H26.7.7 | H26.12.10 H26.7.7 | H26.12.10

7KiIR(°C) 18.5 12.1 15.5 14.5

B XURE R (mS/m) 22.2 17.7 16.0 19.0

pH 6.5 6.5 | FHTHYE 6.8 6.6 | FRTHE
/A=iuy S < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb pR SR < 0.0002 |<0.0002 |<0.0002 |<0.0002 (< 0.0002 [<0.0002
ke =LE /)~ — < 0.0002 |<0.0002 |<0.0002 |<0.0002 (< 0.0002 [<0.0002
Lo-vranxH < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 ([<0.0004 [<0.0004
L1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L <0.004 |<0.004 (<0.004 |<0.004 ([<0.004 [<0.004
L,1,1-’)rmaxz < 0.0005 |< 0.0005 |<0.0005 |<0.0005 (< 0.0005 (< 0.0005
1,1,2-K)rmaxz - < 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006 (< 0.0006
KNZooxzFL 0.002 0.004 0.003 < 0.002 < 0.002 < 0.002
Va4 1= i < 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 0. 0005 0. 0005
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EHE=2V 7 RE k)

(R A R R S )RS5 7)

(BASL i mg/L)

T X ETAT 44 =[0G Bl

X HET R —R 210 210

H X 4 & FLHT R

HXE = 0440 0480

HEES 000100 000100

H G (m) 60.0 100.0

B R FHF FHFE

F& X5y TXRRAK TXRAK
PRKFEHH H26.7.7 | H26.12.10 H26.7.7 | H26.12.10

7KIE(°C) 15.5 14.5 18.0 12.4

BREEFE (mS/m) 22.9 19.5 17.1 21.1

pH 6.6 6.6 |FHEHE 6.7 6.8 | FREEME
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
g bR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
Eirr = 1% /) ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 [< 0.0005 (< 0.0005 0. 0005 0. 0005 0. 0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0. 0005 0. 0009 0. 0007 0.0010 0. 0009 0.0010
T X ETAT 44 =[0G Bl

X HET R —R 210 210

H X 4 BE R

HXE = 0480 0480

HEES 000300 000500

H G (m) B 100.0

B R FHF FHFE

F& X5y TXRRAK TXRAK
PRKFEHH H26.7.7 | H26.12.10 H26.7.7 | H26.12.10

7KIE(°C) 15.8 14. 6 19.3 13.8

BREEFE (mS/m) 20.6 20.7 21.0 22.4

pH 6.8 6.8 |FMEHE 7.0 7.1 [ E
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
g bR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
Eirr = 1% /) ~— < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 [< 0.0005 (< 0.0005 0.0012 0. 0009 0.0011
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% < 0.0005 [< 0.0005 (< 0.0005 0. 0007 0. 0006 0. 0007
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EHE=2V 7 RE k)

(MR R AW )1 RS 578)

(BASL i mg/L)

T XHETA 4 Bt Bt

AT R — I 210 210

HLIX 4 —IZAT S AT

HOIX 8 0510 0540

HEES 000100 000200

HETRE () THA 80.0

- I 8 8

X5y — 8K — KA

k4 A H H26.7.16 | H26.12. 10 H26.7.7 | H26.12.10

KIR(C) 22.0 10.5 15.5 14.0

BAUREAR (mS/m) 22.7 23.1 25. 1 14.4

pH 7.8 1.4 | FRFEE 6.7 6.8 | FRTHE
Dynnisy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
B < 0.0002_[<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002
e < 0.0002_[<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002
1,2-vsanTay < 0.0004 [<0.0004 [<0.0004 [<0.0004 [<0.0004 [<0.0004
LI-y/onzFLy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
1,2-Y/anzFLy <0.004 [<0.004 [<0.004 [<0.004 [<0.004 [<0.004
LLI-F7RRzs <0.0005 | 0.0011 [ 0.0008 [<0.0005 [<0.0005 [< 0.0005
L12-FJ/RRTs < 0.0006 < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
MonzsLy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
FRoyan=FLu < 0.0005 < 0.0005 [<0.0005 [<0.0005 [<0.0005 [< 0.0005
T XHETA 4 Bt Famhm

AT R — I 210 212

HLIX 4 S RAAT %

HOIX 8 0540 0010

HEES 000400 000400

H PR (m) 60.0 100. 0

- I 8 BHE

M5y IKEKIR —HER A

k4 A H H26.7.7 | H26.12.10 H26.7.9 | H26.12.11

KIR(C) 20.5 10.0 19.5 13.5

BAUREAR (mS/m) 24.3 15.5 18.8 14.5

pH 6.8 6.8 | FHFHE 6.5 6.4 | FRTHE
Dynnisy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
B < 0.0002_[<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002
e < 0.0002_[<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002
1,2-vsanTay < 0.0004 [<0.0004 [<0.0004 [<0.0004 [<0.0004 [<0.0004
LI-y/onzFLy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
1,2-Y/anzFLy <0.004 [<0.004 [<0.004 [<0.004 [<0.004 [<0.004
LLI-F7RRzs < 0.0005 < 0.0005 [<0.0005 [<0.0005 [<0.0005 [< 0.0005
L12-FJ/RRTs < 0.0006 < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
MonzsLy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
FRoyan=FLu < 0.0005 < 0.0005 [<0.0005 [<0.0005 [<0.0005 [< 0.0005
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EHE=2V 7 RE k)

(R A R R S 1) RS 579)

(BASL i mg/L)

X ATR 44 %5 < 5 < i

AT R — I 212 212

HLIX 4 % AT

HOIX 8 0010 0020

HEES 001000 000100

H PR (m) 100. 0 50.0

- I BHE BHE

M5y HEERK HEERK

k4 A H H26.7.9 | H26.12.11 H26.7.9 | H26.12.11

KIR(C) 16.5 14.5 17.5 8.5

BAUREAR (mS/m) 18.9 16.0 20.5 5.8

pH 6.6 6.5 | FHFHE 6.9 6.5 |FRTHE
Dynnisy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
B < 0.0002_[<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002
e < 0.0002_[<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002
1,2-vsanTay < 0.0004 [<0.0004 [<0.0004 [<0.0004 [<0.0004 [<0.0004
LI-y/onzFLy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
1,2-Y/anzFLy <0.004 [<0.004 [<0.004 [<0.004 [<0.004 [<0.004
LLI-F7RRzs < 0.0005 < 0.0005 [<0.0005 [<0.0005 [<0.0005 [< 0.0005
L12-FJ/RRTs < 0.0006 < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
MonzsLy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
FRoyan=FLu <0.0005 | 0.0005 | 0.0005 [<0.0005 | 0.0023 [ 0.0014
X ATR 44 %5 < Z BT

AT R — I 212 361

X4 (EEESZS AH

HOIX 8 0040 0010

HEES 000100 001000

H PR (m) 30.0 130.0

- I BHE BHE

ik —H XA T XK

k4 A H H26.7.9 | H26.12.11 H26.7.9 | H26.12.11

KIR(C) 6.8 5.8 21.5 12.2

BAUREAR (mS/m) 16.7 12.6 42.2 33.8

pH 6.5 6.4 | FRFHE 1.1 1.7 | FRPE
Dynnisy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
B < 0.0002_[<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002
e < 0.0002_[<0.0002 [<0.0002 | 0.0010 | 0.0016 | 0.0013
1,2-vsanTay < 0.0004 [<0.0004 [<0.0004 [<0.0004 [<0.0004 [<0.0004
LI-y/onzFLy <0.002  [<0.002 [<0.002 [<0.002 [<0.002 [<0.002
1,2-Y/anzFLy <0.004 [<0.004 [<0.004 [ 0.037 | 0.046 | 0.042
LLI-F7RRzs < 0.0005 < 0.0005 [<0.0005 [<0.0005 [<0.0005 [< 0.0005
L12-FJ/RRTs < 0.0006 < 0.0006 [< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
MonzsLy <0.002  [<0.002 [<0.002 [ 0.020 | 0.022 [ 0.021
FRoyan=FLu 0.0010 [ 0.0011 | 0.0011 | 0.0005 [ 0.0005 | 0.0005
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EHE=2V 7 RE k)

HERMEATRESR LY ) R 5 77 10)

(BASL i mg/L)

T KT 445 L) R AT
i XE A= —F 384 384

HiX 4, = R AT = R HhERAT

X E = 1030 1030

HEEE 000500 001000

F R (m) B 13.0

- B B BHE

AKX 5y HERK Z 0fth

HOKEA H H26.7.15 | H26.12.9 H26.7.15 | H26.12.9

ZKIE(°C) 15.5 14.0 17.5 17.5

EXEESR (mS/m) 23.17 20. 1 36.9 21.5

pH 6.8 6.7 |(EMITHE 6.6 1.2 |4ERTHE
A=1=55 4 <0.002 [<0.002 [<0.002 |<0.002 [<0.002 [<0.002
Rl <0.0002 [<0.0002 [<0.0002 |<0.0002 < 0.0002 [<0.0002
Bk = 1€/ ~— < 0.0002 [< 0.0002 [< 0.0002 0.10 0. 0020 0. 051
1,2-v/manxg < 0.0004 [<0.0004 [<0.0004 |<0.0004 [<0.0004 [<0.0004
L, 1-v/anxzFL v <0.002 [<0.002 [<0.002 |<0.002 [<0.002 [<0.002
1,2-v/anxzFL v <0.004 [<0.004 <0.004 0.082 [< 0.004 0. 043
1,1,1-")7max < 0.0005 [<0.0005 [<0.0005 |<0.0005 (< 0.0005 [<0.0005
1,1,2-’N)7max i 0.0006 [< 0.0006 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
[ NPZa=1=5x0 % <0.002 [<0.002 [<0.002 |<0.002 [<0.002 [<0.002
VANZA=1=5m ol KOG < 0.0005 [<0.0005 [<0.0005 |<0.0005 (< 0.0005 [<0.0005
T KT 445 EEFKAT

i XE A= —F 386

HiX 4, AL

X E = 0140

HEEE 000200

F R (m) B

- B B

FH& K4y — iR

HOKEA H H26.7.14 | H26.12.10

ZKIE(°C) 15.0 15.5

EXEESR (mS/m) 24.6 22.1

pH 6.8 6.6 | 4FMTHfH

A=1=55 4 <0.002 [<0.002 [<0.002

Rl < 0.0002 [< 0.0002 [< 0.0002

Bk = 1€/ ~— < 0.0002 [< 0.0002 [< 0.0002

1,2-v/manxg < 0.0004 [< 0.0004 [<0.0004

L, 1-v/anxzFL v <0.002 [<0.002 [<0.002

1,2-v/anxzFL v <0.004 [<0.004 <0.004

1,1,1-")7max < 0.0005 [< 0.0005 [< 0.0005

1,1,2-’N)7max i < 0.0006 [< 0.0006 |< 0.0006

[ NPZa=1=5x0 % <0.002 [<0.002 [<0.002

VANZA=1=5m ol KOG 0. 0005 0. 0005 0. 0005
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EHE=2V 7 RE R )

FERMEARER AW &R T FE 7 1)

(HLAZ :mg/L)

i X HT A4 Bl €RM

XA R 2 —R 201 201

HuX 4, AJOowvs AJOovs

HXZ = 0010 0010

HEES 000100 000800

FH G (m) 50.0 100.0

B EBHF EHPE RHP

Fi&X 5y — %8R A TERAK
BAKFEHH H26.6.24 | H27.1.27 H26.6.26 | H27.1.29

7KIE(°C) 15.5 14.4 16.0 13.4

BRLEEFE (mS/m) 22.0 24.0 20.0 22.0

pH 7.0 7.1 [ E 6.7 6.8 |FMFEHE
Truana AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AR < 0.0002 (< 0.0002 (< 0.0002 |[< 0.0002 |< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[< 0.0004 (< 0.0004 (< 0.0004
1,1-Y/ouxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-FN)raaxg < 0.0005 (< 0.0005 (< 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-FN)ramxz < 0.0006 (< 0.0006 (< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006
N Zaax=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhI7uoxFL 0. 0011 0. 0011 0. 0011 0. 0064 0. 0068 0. 0066
T X AT 4 &R €£iRM

XA = —R 201 201

HuX 4, AJOwvs AJOwvs

HX %5 0010 0010

HFES 000900 001000

FEF R EE (m) 81.0 80.0

& RHF RHRE RHRE

FIiRIX 5y HSERK — % Ex A

BKEA H H26.6.26 | H27.1.29 H26.6.26 | H27.1.29

JKIR(°C) 18.0 12.4 16.4 11.6

BRARE R (mS/m) 24.0 22.0 26.0 24.0

pH 6.8 6.9 |FMFEHE 7.0 1.0 | FMEHE
TranAH < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2->/unx B < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 [<0.0004 (< 0.0004
1,1-ZupxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmax=X < 0.0005 (< 0.0005 (< 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-R)/mpx=X < 0.0006 (< 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006
[NEZA=i=t=t5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Tho7/upxFL 0. 0050 0.0071 0. 0061 0.0020 0.0024 0.0022
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EHE=2V 7 RE k)

R AR R AW @R 1T HE N 532)

(BASL i mg/L)

T X ETAT 44 €iRM £iR™

X ETAT = — R 201 201

Hi X 4 AJOwvsy AJOwv4y

HXE = 0010 0010

HFEES 001100 002000

H G (m) 80.0 150.0

& EHF EHPE EHPE

F& X5y — %8k A ATERK
PRKFEHH H26.6.26 | H27.1.29 H26.6.24 | H27.1.27

7KIR(°C) 21.3 10.9 15.0 12.0

BREEFE (mS/m) 27.0 23.0 23.0 23.0

pH 7.0 7.0 | FHESE 7.0 7.0 | FEREEE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil &S < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0. 0046 0. 0059 0. 0053 0.0037 0.0032 0. 0035
T X ETAT 44 €iRM £iR™

X ETAT = — R 201 201

Hi X 4 B7AwvY B7AwvY

HXE = 0020 0020

HFEES 000200 000400

FH R (m) 70.0 BH

& EHF EHPE T~BH

F& X5y AJERK ATERK
PRKFEHH H26.6.24 | H27.1.27 H26.6.25 | H27.1.28

7KIR(°C) 16.0 15.0 16.9 13.5

BREEFE (mS/m) 21.0 21.0 21.0 21.0

pH 6.9 7.0 | FHESE 6.9 6.9 | FREE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil &S < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0.0082 0.011 0. 0096 0.011 0.010 0.011
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EHE=2V 7 RE k)

(FERMEAEE R AW - @R 1T FE N 533)

(BASL i mg/L)

T X ETAT 44 €iRM £iR™

X HET R —R 201 201

Hi X 4 BJOwY BJOwY

HXE = 0020 0020

HEES 001000 001500

H G (m) 158.0 80.0

TR EHPE EHPE

F& X5y — %8k A ATERK
PRKFEHH H26.6.25 | H27.1.28 H26.6.25 | H27.1.28

7KIR(°C) 20.0 14.5 17.5 10.0

BREEFE (mS/m) 18.0 15.0 17.0 17.0

pH 6.7 6.7 |FHEHE 6.7 6.8 | FREEME
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil &S < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0.0079 0.0090 0. 0085 0.021 0.019 0.020
T X ETAT 44 €iRM £iR™

X HET R —R 201 201

Hi X 44 B7AwvY B7AwvY

HXE = 0020 0020

HEES 001700 002200

H G (m) 85.0 80.0

TR EHPE EHPE

F& X5y AJERK ATERK
PRKFEHH H26. 6. 25 - H26.6.24 | H27.1.27

7KIR(°C) 18.7 18.8 14.5

BREEFE (mS/m) 25.0 23.0 23.0

pH 7.0 [ E 1.2 1.4 | FEREE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil &S < 0.0002 < 0.0002 |[< 0.0002 (< 0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 < 0.0004 |[< 0.0004 (< 0.0004 |< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)ranx k- < 0.0006 < 0.0006 [< 0.0006 (< 0.0006 [< 0.0006
[NE/4=1=t= =5 2 P4 0. 002 0. 002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0.0079 0.0079 0.0070 0. 0066 0. 0068
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EHE=2V 7 RE k)

FER AR R AW @R T E N 574)

(BASL i mg/L)

T X ETAT 44 €iRM £iR™

X HET R —R 201 201

Hi X 4 BJOwY BJOwY

HXE = 0020 0020

HEES 002400 003200

H G (m) 50.0 150.0

TR EHPE EHPE

F& X5y — %8k A ATERK
PRKFEHH H26.6.25 | H27.1.28 H26.6.25 | H27.1.28

7KIR(°C) 18.2 11.0 14.4 13.1

BREEFE (mS/m) 16.0 16.0 21.0 22.0

pH 7.0 7.0 | FHESE 6.9 7.0 | FEREEE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil &S < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
N ZopxzsFL < 0.002 < 0.002 < 0.002 0. 002 < 0.002 0.002
VAl \ZA=1=1=8 o V% 0.0013 0.0011 0.0012 0.096 0.10 0.098
T X ETAT 44 €iRM £iR™

X HET R —R 201 201

Hi X 4 BJOwY BJOwY

HXE = 0020 0020

HEES 003700 003900

H G (m) 80.0 70.0

TR EHPE EHPE

F& X5y AJERK — % &x A
PRKFEHH H26.6.25 | H27.1.28 H26.6.24 | H27.1.27

7KIR(°C) 16.6 14.5 15.7 14.5

BREEFE (mS/m) 18.0 22.0 16.0 15.0

pH 6.7 6.9 |FHEHE 7.1 7.0 | FEREEE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil &S < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0.0071 0. 0085 0.0078 0. 0009 0. 0005 0. 0007
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EHE=2V 7 RE R )

(FERMEATRER Y &R 1T 775)

(HLAZ :mg/L)

i X HT A4 Bl €RM

XA R 2 —R 201 201

HuX 4, BJOwvY B7OwvY

HXZ = 0020 0020

HEES 004500 004600

FH PR (m) 49.0 101.0

B EBHF N RHP

Fi&X 5y 4TERK HFERAK
BAKFEHH H26.6.25 | H27.1.28 H26.6.24 | H27.1.27

7KIE(°C) 16.5 14.4 15.5 13.8

BRLEEFE (mS/m) 19.0 19.0 23.0 24.0

pH 6.6 6.6 |FHEHE 7.4 1.4 | F[EFEHE
Truana AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AR < 0.0002 (< 0.0002 (< 0.0002 |[< 0.0002 |< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[< 0.0004 (< 0.0004 (< 0.0004
1,1-Y/ouxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-FN)raaxg < 0.0005 (< 0.0005 (< 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-FN)ramxz < 0.0006 (< 0.0006 (< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006
N Zaax=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhI7uoxFL 0.010 0.013 0.012 0.0033 0.0030 0. 0032
T X AT 4 &R €£iRM

XA = —R 201 201

HuX 4, BJOwvY BJOwvY

HX %5 0020 0020

HFES 005000 005100

FEF R EE (m) 85.0 90.0

& RHF N RHRE

FIiRIX 5y HSERK ASERK

BKEA H H26.6.24 | H27.1.27 H26.6.25 | H27.1.28

JKIR(°C) 17.4 12.3 17.8 11.6

BRARE R (mS/m) 25.0 24.0 20.0 18.0

pH 7.1 7.1 A E 7.0 7.1 A
TranAH < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2->/unx B < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 [<0.0004 (< 0.0004
1,1-ZupxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmax=X < 0.0005 (< 0.0005 (< 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-R)/mpx=X < 0.0006 (< 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006
[NEZA=i=t=t5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Tho7/upxFL 0. 0071 0.0071 0.0071 0.0039 0.0040 0. 0040
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EHE=2V 7 RE R )

FERMEATRE R Y &R FE i 776)

(HLAZ :mg/L)

i X HT A4 Bl €RM

XA R 2 —R 201 201

HuX 4, BJOwvY cJov¥y

HXZ = 0020 0030

HEES 006200 000100

FH PR (m) N 80.0

B EBHF N RHP

Fi&X 5y — %8R A HFERAK
BAKFEHH H26.6.24 | H27.1.27 H26.6.26 | H27.1.29

7KIE(°C) 17.5 15.5 23.0 8.5

BRLEEFE (mS/m) 22.0 22.0 21.0 19.0

pH 6.8 6.8 |FMEHE 6.5 6.6 |G FEHE
Truana AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AR < 0.0002 (< 0.0002 (< 0.0002 |[< 0.0002 |< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 (< 0.0004 (< 0.0004 |[< 0.0004 (< 0.0004 (< 0.0004
1,1-Y/ouxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-FN)raaxg < 0.0005 (< 0.0005 (< 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-FN)ramxz < 0.0006 (< 0.0006 (< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006
N Zaax=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FhI7uoxFL 0. 0051 0. 0061 0. 0056 0. 0031 0.0049 0. 0040
T X AT 4 &R €£iRM

XA = —R 201 201

HuX 4, covy cJovy

HX %5 0030 0030

HFES 000500 000800

FEF R EE (m) 75.0 60.0

& RHF RHRE RHRE

FIiRIX 5y HSERK — k&R A

BKEA H H26.6.26 | H27.1.29 H26.6.26 | H27.1.29

JKIR(°C) 18.0 11.4 17.0 15.4

BRARE R (mS/m) 19.0 18.0 26.0 22.0

pH 6.5 6.5 |FMFEHE 6.5 6.4 |FREHE
TranAH < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AR < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2->/unx B < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 [<0.0004 (< 0.0004
1,1-ZupxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uuxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-R)rmax=X < 0.0005 (< 0.0005 (< 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-R)/mpx=X < 0.0006 (< 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006
[NEZA=i=t=t5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Tho7/upxFL 0. 0006 0. 0007 0. 0007 0.0025 0.0028 0.0027

- 196 -



EHE=2V 7 RE k)

R AR R AW R ER S T)

(BASL i mg/L)

T X ETAT 44 €iRM £iR™

X HET R —R 201 201

Hi X 4 cJawyy cJawy

HXE = 0030 0030

HEES 001300 002200

H G (m) 100.0 79.0

TR EHPE EHPE

F& X5y AJERK H£FERAK
PRKFEHH H26.6.26 | H27.1.29 H26.6.24 | H27.1.27

7KIR(°C) 18.8 11.9 17.2 16.0

BREEFE (mS/m) 24.0 22.0 18.0 18.0

pH 6.6 6.6 |FHEHE 6.4 6.5 | FREE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil &S < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
N ZopxzsFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0. 0058 0.0067 0.0063 0.0078 0. 0060 0. 0069
T X ETAT 44 €iRM £iR™

X HET R —R 201 201

Hi X 4 DJAav% DJAav%

HXE = 0040 0040

HEES 000600 000800

H G (m) 50.0 140.0

TR N EHPE

F& X5y — %8k A — % &x A
PRKFEHH H26.6.26 | H27.1.29 H26.6.26 | H27.1.29

7KIR(°C) 16.0 14. 6 16.3 15.1

BREEFE (mS/m) 14.0 15.0 15.0 15.0

pH 6.8 6.8 |FMEHE 6.2 6.2 | FREE
Jaa AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil &S < 0.0002 (< 0.0002 (< 0.0002 |<0.0002 [<0.0002 (< 0.0002
1,2->/uapnx i < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 (< 0.0004
1,1->ZopnxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ZupnxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-F)ranx k- < 0.0005 (< 0.0005 (< 0.0005 < 0.0005 [< 0.0005 [< 0.0005
1,1,2-N)ranx k- < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 (< 0.0006
[NE/4=1=t= =5 2 P4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VAl \ZA=1=1=8 o V% 0.0016 0.0018 0.0017 (< 0.0005 (< 0.0005 (< 0.0005

- 197 -



EHE=2V 7 RE R )

FERMEATEER Y &R 1T FE N 778)

X ET A 44 ®Rm

XA A2 — R 201

HuX 4 G7ovY

Hi X 3 5 0070

HFEE 001900

H T (m) B

WV B

F# X4y AERK

KR B H26.6.25 | H27.1.28

FKIR(°C) 19.3 7.5

BRI R (mS/m) 22.0 23.0

pH 6.8 6.8 |FMFHE
DoapARy <0.002 [<0.002 [<0.002
DU AL SR < 0.0002 [< 0.0002 [< 0.0002
1,2-V/anT iy < 0.0004 [< 0.0004 [< 0.0004
1,1-/anTFLy <0.002 [<0.002 [<0.002
1,2-Y/anTFL <0.004 [<0.004 [<0.004
1,1,1-F)7anxz < 0.0005 [< 0.0005 [< 0.0005
1,1,2-F) 7anx i < 0.0006 |< 0.0006 |< 0.0006
N e A <0.002 [<0.002 [<0.002
FRSranTFLL 0.0013 0.0014 0. 0014
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EME=FV TREGGER) (F A)RERS1) (BT : mg/L)
1 XHT A 4 INATH INATH
X E = —R 203 203
X4 El) F BAHET
X E 5 0050 0410
HFE&ES 000100 000100
FHFREE (m) 70.0 40.0
e RH A RFF RFF
Ri&EX 5 TEAK ZD1th
BOKEH H H26.7.3 | H26.12.15 H26.7.3 | H26.12.12
ZKIE(C) 19.2 18.5 18.2 17.0
BERIEE (mS/m) 49.0 43.9 379 217
pH 7.3 1.2 I fE 7.1 7.1 I
=53 0.028 0.030 0.029 0.009 0. 007 0.008
1 XHT A 4 INATH INATH
X E = —R 203 203
X4 E/iRET i HnET
X E 5 0600 0630
HFE&ES 000100 000200
FHFREE (m) T~BH 4.5
e RHF T~ N
Ri&EX 5 ZDith ZD1th
BOKEH H H26.7.3 | H26.12.15 H26. 7.1 -
ZKIE(C) 19.6 16. 2 15.8
BERIEE (mS/m) 43.3 67.0 14.4
pH 7.3 7.3 I fE 6.2 I
=53 0.032 0.019 0.026 < 0.005 < 0.005
1 XHT A 4 INATH W ST
X E = —R 203 204
HX 4 FET FIRITET = G 15
X E 5 0700 1190
HFE&ES 000200 000100
HF R (m) 40.0 P ;]
e RHF T~ EHF
X 5y TERAK ATERK
BOKEH H H26.7.3 - H26.7.22 | H26.12.9
ZKIE(C) 17.4 16.0 12.5
BERIEE (mS/m) 190 16. 4 13.4
pH 6.9 I fE 6.9 6.8 I
=53 0.024 0.024 0.010 0.013 0.012
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EME=FV THREGGER) (F A)RERS2) (BT : mg/L)
1 XHT A 4 mEM FIET
X E = —R 206 207
HX 4 th SHT 3=t
X E 5 0620 0050
HFE&ES 000100 000600
HF R (m) 22.0 P ;]
e RHF T~ EHF
Ri&EX 5 ATERK ZD1th
BOKEH H H26.7.11 | H26.12.8 H26.7.14 | H26.12.9
ZKIE(C) 18.5 17.2 15.0 14.5
BERIEE (mS/m) 36.6 35.8 34.6 32.1
pH 7.3 7.3 I fE 8.4 8.3 I
=53 0.013 0.017 0.015 0.009 0.008 0. 009
1 XHT A 4 FIET FIVET
X E = —R 207 207
HX 4 FEEAT ATHET
X E 5 0120 0130
HFE&ES 000100 000100
FHFREE (m) 130.0 60.0
e RH A RFF RFF
Ri&EX 5 ZDith TEAK
BOKEH H H26.7.14 - H26.7.14 | H26.12.9
ZKIE(C) 14.0 14.5 14.0
BERIEE (mS/m) 29.6 20.7 24.6
pH 8.5 I fE 6.8 7.0 I
=53 0.006 0.006 0.008 0.019 0.014
1 XHT A 4 FIET FIVET
X E = —R 207 207
X4 KJIIET FIWE BT
X E 5 0250 0270
HFE&ES 000500 000100
FHFREE (m) T~BH 50.0
e RHF T~ N
Ri&EX 5 ZDith ATERAK
BOKEH H H26.7.14 | H26.12.9 H26.7.14 | H26.12.9
ZKIE(C) 25.0 18.0 22.0 20.5
BERIEE (mS/m) 29.1 25.17 46.0 39.6
pH 8.3 8.3 I fE 8.4 8.4 I
=53 0.009 0.011 0.010 0.008 0.012 0.010
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EME=FV TREGGER) (F A)RERS3) (BT : mg/L)
1 XHT A 4 R TEET R BT
X E = —R 361 365
HX 4 i b i)
X E 5 0190 0070
HFE&ES 000100 000100
FHFREE (m) 180.0 4.0
e RH A RFF EHF
Ri&EX 5 ATERK ATERAK
BOKEH H H26.7.9 | H26.12.11 H26.7.24 | H26.12. 11
ZKIE(C) 19.5 15.0 17.5 15.0
BERIEE (mS/m) 7.1 27.1 26. 4 23. 4
pH 8.8 1.2 I fE 6.9 1.2 I
=53 0.007 0.012 0.010 0.018 0.014 0.016
1 XHT A 4 S EHET 7N IKHET
X E = —R 384 461
HX 4 BXI P
X E 5 1040 0040
HFE&ES 000200 000100
FHFREE (m) 4.0 30.0
e RHF T~ RFF
Ri&EX 5 ZDith ATERAK
BOKEH H H26.7.15 | H26.12.9 H26.7.16 | H26.12.9
ZKIE(C) 17.0 17.0 16.0 13.9
BERIEE (mS/m) 43.0 38.8 24.8 19.2
pH 7.7 1.7 I fE 7.3 7.1 I
=53 0.016 0.012 0.014 0.007 0.011 0. 009
7 X HTAT 4 7V IKHET 7K BT
X E = —R 461 461
HX 4 i #’rE
X E 5 0060 0140
HFE&ES 001100 000100
FHFREE (m) 25.0 65.0
e RHF T~ RFF
Ri&EX 5 — % 8x A ATERAK
BOKEH H H26.7.16 | H26.12.9 H26.7.16 | H26.12.9
ZKIE(C) 15.0 13.0 17.0 16.5
BERIEE (mS/m) 20.9 16. 1 14.8 11.4
pH 6.1 6.1 I fE 1.2 7.0 I
=53 < 0.005 < 0.005 | < 0.005 0.008 0.015 0.012
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EME=FV TREGGER) (F A)IRERS4) (BT : mg/L)
7 X HTAT 4 7V IKHET 7K BT
X E = —R 461 461
HX 4 #’rE +tiE
X E 5 0140 0150
HFE&ES 000400 000100
FHFREE (m) 60.0 5.0
e RHF EHF EHF
Ri&EX 5 ATERK ATERAK
BOKEH H H26.7.16 | H26.12.9 H26.7.16 | H26.12.9
ZKIE(C) 16.7 14.9 14.5 13.8
BERIEE (mS/m) 15.6 11.9 15.8 11.5
pH 6.9 6.9 ER S E 7.0 1.2 ER S E
=53 0.009 0.026 0.018 0.006 0. 007 0. 007
1 XHT A 4 AEESHT AE S HT
X E = —R 463 463
HX 4 FHELS iR
X E 5 0010 0240
HFE&ES 000600 000200
FHFREE (m) T~BH 10.0
e RHF T~ EHF
Ri&EX 5 ATERK ATERAK
BOKEH H H26.7.16 | H26.12.9 H26.7.16 | H26.12.9
ZKIE(C) 16. 4 16.6 14.5 15.5
BERIEE (mS/m) 26.4 21.1 31.1 24.6
pH 9.3 9.3 I fE 7.6 1.3 I
=53 0.007 0.010 0.009 0.006 0.008 0. 007
1 XHT A 4 AEESHT AE S HT
X E = —R 463 463
HX 4 iR iR
X E 5 0240 0240
HFE&ES 000200 000200
FHFREE (m) 10.0 10.0
e RHF EHF EHF
Ri&EX 5 ATERK ATERAK
BOKEH H H26.12.9 | H26.12.9 H26.12.9 | H26.12.9
ZKIE(C) 15.5 15.5 15.5 15.5
BERIEE (mS/m) 24.6 24.6 24.6 24.6
pH 7.3 7.3 I fE 7.3 1.3 I
=53 0.008 0.008 0.008 0.008 0.008 0.008
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B E=FV FREMGER)  (HERME =R L O =58 a1 R 325 5)) (A7 :mg/L)

T X ET R4 INATH INATH

X ETA T — R 203 203

H X 4 ZEmT [m] AT HT

X = 0460 0510

HFEES 000200 000100

H G (m) 4.0 4.0

ARSI EHFE EHF

FHIEIX 5y ATERAK TEAK
BOKEH H H26.7.1 | H26.12.15 H26.7.4 | H26.12.19
7KIR(C) 15.2 15.7 17.4 16.7

BERLE R (mS/m) 17.9 14.1 26.5 33.3

pH 6.1 6.7 |FREHME 6.5 6.5 |FRHTEIE
MR 22 3R K OV et 2= 1.2 2.7 2.0 9.9 24 17
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EHE=2V 7 RE k)

(73 )RS s))

(BASL i mg/L)

i XET AT 4, MEM mEH

7 XHET A= — 1 206 206

X 4 hniseHT E RHET

X35 0370 0500

%S 000200 000200

FE TR (m) 5.0 i

- RIFE EHP i

X Sy Z D1t ATERK

BKER H H26.7.11 | H26.12.8 H26.7.11 | H26.12.8

KIR(C) 24.0 7.0 17.6 15.7

B XU R (mS/m) 41.6 65. 7 26. 6 24.3

pH 7.5 7.6 | EFEFHE 1.7 1.7 | FFRTEE
73R 1.0 0.98 0.99 1.2 1.1 1.2
i XET AT 4, MEM mEH

7 XHET A= — 1 206 206

XA {E BT E RHET

X35 0500 0500

%S 000300 000400

FE TR (m) I~BH i

- RIFE i i

X Sy ATERK ATERK

BKER H H26.7.11 | H26.12.8 H26.7.11 | H26.12.8

KIR(C) 17.9 14.8 18.2 16. 4

B XU R (mS/m) 27.3 24.8 30. 4 29.0

pH 7.6 7.6 | FFETE 7.8 1.7 | FFRTEE
73R 1.2 1.1 1.2 1.3 1.2 1.3
i XET AT 4, MEM mEH

7 XHET A= — 1 206 206

XA {E BT E RHET

X35 0500 0500

%S 000600 000700

FE TR (m) 16.0 10.0

- RIFE i i

X Sy ATERK ATERK

BKER H H26.7.11 | H26.12.8 H26.7.11 | H26.12.8

KIR(C) 16.5 15.2 17.6 13.5

B XU R (mS/m) 22.2 21.7 27.6 25.6

pH 7.6 7.5 | FFEE 1.7 7.9 | FFRFE
73R 1.0 0.95 0.98 1.3 1.3 1.3
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EHE=2V 7 RE k)

(RU 3 )RS 4))

(BASL i mg/L)
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T X ET R4 INATH INATH

X ETA T — R 203 203

H X 4 A HRHT {E AR BT

X = 0410 0620

HFEES 000100 000200

H G (m) 40.0 1~BH

e R FHFE FHE

FHIEIX 5y ZDith Z Db

BOKEH H H26.7.3 | H26.12.12 - H26.12. 15

7KIR(C) 18.2 17.0 18.5

BERLE R (mS/m) 379 217 181

pH 7.1 1.1 | FEREE 1.3 | FRHEEE
ANYES 3.3 1.9 2.6 0.7 0.7
T X ET R4 INATH INATH

X ETA T — R 203 203

Hi1X 4 Kt ET SR ET

X = 0670 0700

HFEES 000200 000200

FH R (m) B 40.0

ARSI Nz THH

FHIEIX 5y ATERAK TEAK

BOKEH H H26.7.3 | H26.12.15 H26.7.3 -

7KIR(C) 18.5 16.4 17.4

BERLE R (mS/m) 317.2 29.5 190

pH 7.9 1.8 | FEMEEHE 6.9 R
ANYES 0.2 0.1 0.2 1.8 1.8
T X ET R4 INATH

X ETA T — R 203

Hi1X 4 P ET

X = 0700

HEES 000300

F PR (m) E Nz

ARSI Nz

FHIEIX 5y ZDith

BOKEH H H26.7.3 | H26.12.19

7KIR(C) 17.5 14.5

BERLE R (mS/m) 198 168

pH 7.8 1.7 | FEREE

ANYES 2.3 1.8 2.1



